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Reasoning Mega Quiz for SSC CGL (Solutions)

$1. Ans.(c)
Sol.
E=A=C
B=D
and A is in the second position
=~ Eis the heaviest.

S$2. Ans.(a)
Sol.
+3 +3 +3 +3
[ ]| H L] [
H K PQ xw
| il il 1l |
+4 +4 +4 +4
$3. Ans.(b)
Sol.
+4 +5 +6 +7
[ H I | 1
I N aR Uw B C I']
L il 1l il i
+5 +h +7 +8
$4. Ans.(d)

Sol. According to statements
8 + Nikhil = Rohan
From Option

8 +8 =16 year
6 Months Subscription
S5. Ans.(d)
Sol. ORANGE is not derived from ORGANISATION. A
$6. Ans.(c)
Sol. PREMIUMPLUS

Similarly

et g oy SSC CGL

ETAROTCELE
-— e
EKAUQHTRAE
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S$7. Ans.(b)

Sol.
=8a3c24b12d19
=8x3+24+12-19
=7

$8. Ans.(b)
So0l.2x4x6=48,3x2x8=48and2 x5x7 =70
Here + is replaced by ‘x ’ to get required result.

S9. Ans.(d)

Sol.

Pattern is
Zx5=20
7

B x5=35
12

and%xf-:

$10. Ans.(d)

$11. Ans.(c)
Sol.
E=A=C
B=D
and A is in the second position
=~ Eis the heaviest.

$12. Ans.(a)
Sol.
+3 +3 +3 +3
| H H | 1
H K LM PQ TT xw
| il il il f
- +4 +4 +4
$13. Ans.(b)
Sol.
+4 +5 +6 +7
[ H 1 H 1
I N 0OR ] B C I ]
L il il il i
+53 +h +7 +8
S$14. Ans.(d)

Sol. According to statements
8 + Nikhil = Rohan

From Option

8 +8=16year

12 Months Subscripti.

eBOOKPLUS

SSC CGL
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$15. Ans.(d)
Sol. ORANGE is not derived from ORGANISATION.

$16. Ans.(c)
Sol.
Similarly
EARTHQUAKE
Q ELECTORATE

ETAROTCELE
EKAUQHTRAE

$17. Ans.(b)

Sol.
=8a3c24b12d19
=8x3+24+12-19
=7

$18. Ans.(b)
Sol.2x4x6=48,3x2x8=48and 2 x5x7=70
Here + is replaced by ‘x ’ to get required result.

$19. Ans.(d)

Sol.
Pattern is
Zx5=20
7
B x5=35
-

andZ—EKE.:

$20. Ans.(d)
$21. Ans.(d)
Sol. Foundation is the main part or the first thing after that rest are TEST SERIES
made. Bilingual
$22. Ans.(a) o 07
Sol. Pair of opposite letters except DU. Fc I 2 0 ] 9
$23. Ans.(c) Manager Phase-l|
Sol. +1 series
30 TOTAL TESTS

S24. Ans.(a)
Sol. - 3 series

Validity : 12 Months
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$25. Ans.(d) TEST SERIES

Sol. ‘Liberal’ ; There is no double ‘I’ in the given word. Bilingual
$26. Ans.(d)
Sol. SSC CGL 2019

4+16=x5+4-2

S 4x16+5-4+2 PREMIUM

=4x16+5-2
=64 +5-2 400+ TOTAL TESTS

= 67

Validity : 12 Months
$27.Ans.(a)

$28. Ans.(a)

$29. Ans.(c)

$30. Ans.(d)
Sol.

Car runs on road.
Rail runs on Track.

4 www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://store.adda247.com/product-testseries/1922/SSC-CGL-Premium-2019-Online-Test-Series

